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ELEMENT a (A) c cla ELEMENT a (A) c - cja
Be 2.29 3.58 1.56 Os 2.74 4.32 1.58
Cd 2.98 5.62 1.89 Pr 3.67 5.92 1.61
Ce 3.65 5.96 1.63 Re 2.76 4.46 1.62
a-Co 2.51 4.07 1.62 Ru 2.70 428 1.59
Dy 3.59 5.65 1.57 Sc 3.31 5.27 1.59
Er 3.56 5.59 1.57 Tb 3.60 5.69 1.58
Gd 3.64 5.78 1.59 Ti 2.95 4.69 1.59
He (2 K) 3.57 5.83 1.63 T1 3.46 5.53 1.60
Hf 3.20 5.06 1.58 Tm 3.54 5.55 1.57
Ho 3.58 5.62 1.57 Y 3.65 5.73 1.57
La 3.75 6.07 1.62 Zn 2.66 4.95 1.86
Lu 3.50 5.55 1.59 Zr 3.23 5.15 1.59
Mg 321 521  1.62 — —
INd 3.66 5.90 1.61 “Ideal™ 1.63
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